HMANIE BT 4

PEIEMNME / 2 EIRE
\ o = 4 St L mm M iy
DEIEMNE - FAARNEE , THHE A4
EH 22120.
EmiER
RE|FERARRSIE.
T A4 RRAFER B KBTI Bt o
mE FLER
8 SEEEE
. T4 1.4401 T
TR BB HER,
EEHF IRIE X EEEIEE,
o TEEH 1.4401 $EER
FiE
- BB PAG, BRINE , BXE
o TE5ER 1.4401
El E 218
« TEEH 1.4401
Em
1 __'__
=i o |
| aJ1
—\’ '
= Y = ]:
SwW II 1
o P AN
- P i
1Y
4| 7 27
N F ] ==y
| |d.
F
L o B 2R
F1| d, | 22120.1514 - .1520
B A 1 B 5 2
FTEEA
R BEAE" & F
d, d; I d3 Iy I3 lg F4 F; min max.
-0,02 min = =
-0,05
[mm] [N] [°Cl o]
TRIAME SRR - A 1
4 M 8x1 4 16 35,0 16 5 3,5 1 -30 80 12 22120.1144
4 M 8x1 6 16 35,0 22 6 45 16 -30 80 1 22120.1164
5 M10 x 1 5 19 35,0 16 5 3,0 1 -30 80 20 22120.1145
5 M10 x 1 8 19 48,0 22 6 4,0 20 -30 80 18 22120.1165
6 M12x 1,5 6 23 40,0 18 6 3,0 12 -30 80 33 22120.1146
6 M12x 1,5 9 23 58,0 26 8 6,0 23 -30 80 33 22120.1166
8 M16 x 1,5 8 28 58,0 26 8 7,0 26 -30 80 67 22120.1168
8 M16 x 1,5 12 28 40,0 18 6 3,0 14 -30 80 70 22120.1148
10 M16 x 1,5 12 28 58,0 26 8 7,5 32 -30 80 70 22120.1180
12 M20 x 1,5 15 33 715 33 10 9,0 32 -30 80 141 22120.1182
FARGMEs — 5 2
4 M 8x1 4 16 35,0 16 5 3,5 1 - 100 21 22120.1154
4 M 8x1 6 16 35,0 16 5 3,0 1 - 100 22 22120.1174
5 M10 x 1 5 18 40,0 18 6 3,0 12 - 100 36 22120.1155
5 M10 x 1 8 18 40,0 18 6 3,0 14 - 100 37 22120.1175
) gt T

182
EEHALDER FIE7E: 12.10.2023


http://halder.com/tw/22120.1144
http://halder.com/tw/22120.1164
http://halder.com/tw/22120.1145
http://halder.com/tw/22120.1165
http://halder.com/tw/22120.1146
http://halder.com/tw/22120.1166
http://halder.com/tw/22120.1168
http://halder.com/tw/22120.1148
http://halder.com/tw/22120.1180
http://halder.com/tw/22120.1182
http://halder.com/tw/22120.1154
http://halder.com/tw/22120.1174
http://halder.com/tw/22120.1155
http://halder.com/tw/22120.1175

HMANIE BT 4

D EIENE | 75 E1RKE
R AEHE" 8 F %ﬁ
d; dy I d3 Iy I3 Iy F4 Fy min max.
-0,02 min = =
-0,05
[mm] [N] [°C] [a]
6 M12x 1,5 6 22 48,0 22 6 45 16 - 100 60 22120.1156
6 M12x1,5 9 22 48,0 22 6 4,0 20 - 100 63 22120.1176
8 M16 x 1,5 8 27 58,0 26 8 6,0 23 - 100 17 22120.1178
8 M16 x 1,5 12 27 58,0 26 8 7,0 26 - 100 118 22120.1158
10 M16x 1,5 12 27 58,0 26 8 7,5 32 - 100 135 22120.1190
12 M20 x 1,5 15 32 715 33 10 9,0 32 - 100 229 22120.1192
D GRE IS E
[T
R~ wWF R i R
dz
[mm] [mm] [a]
$48RIZ1F (SO 8675 (DIN 439), F4%4M 1.4401
M 8x1 13 2,8 22120.1514
@ M12x 1,5 18 76 22120.1516
. M10 x 1 16 5,4 22120.1515
" M16 x 1,5 24 18,0 22120.1518
M20 x 1,5 30 33,0 22120.1520

sy

BRFHANEHRES  BEETRNER.

HE2m2
EEHALDER FIE7E: 12.10.2023


http://halder.com/tw/22120.1156
http://halder.com/tw/22120.1176
http://halder.com/tw/22120.1178
http://halder.com/tw/22120.1158
http://halder.com/tw/22120.1190
http://halder.com/tw/22120.1192
http://halder.com/tw/22120.1514
http://halder.com/tw/22120.1516
http://halder.com/tw/22120.1515
http://halder.com/tw/22120.1518
http://halder.com/tw/22120.1520

